## CS/III21006916/Avf3

	ASSI	GNMENT	
From	Date:	Veh No: SMK6498	Yr Regn: 2019 / APO
Estimated Cost:		Type M.Car / M.Cycle / Bus / Van / Lor	
OD TP/WS/TPR	RES / OD RES / EVA / INV / MV	Truck / Trailer or	
To Inspect Vehicle N	<sup>√0:</sup> SMK 6498X	Make: Honda Vezel	c.c 1496
at Workshop m/s	JEC AUTO	Colour Blue.	A/C: Insured / Std / NI / NA
of		Sp.Reading \$7066	T/Radio: Insured / Std / NI / NA
Insured:		Eng/No:	
Policy No.	D20MPC0001554-01	C/No: RU11311164	*
Claims No.		Gen. Cond Good Fair / Poor / Burnt	
Sum Insured:	Excess:	Steering: Inorder/ Jammed / Leaked / I	Burnt or
(Client's Record)		Brake:     Jammed / Leaked /	Burnt or
Make of Veh:		Modi: Nil (S/Rim)/ STD A/Rim or	
		Tyre Size: F: 2/5/60	R16.
(Policy Condition)		R: 215/60R	16.
Remark: The veh ha	ad commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA / I	
repair at th	he time of inspection.	TOYO / OKO or	
Bal. or Market Value		Front	Rear
IDAC Accident Rport	t: Consistent? : Yes or No	R/Bal. 06 mm	R/Bal. 06 mm
GIA / PR Seen:	Consistent? : Yes or No	L/Bal. Ob mm	L/Bal. 06 mm
Est. Repairs:	days Res.: Yes or No	D.O.A.	D.O.I. 23/06/21.
Lum Sum:	% 3 Val.: Yes or No	'Survey held at JEC	
CA I DEV I DE	EP. / 24 HRS	Des. of Damages Fin / Rear / O/S /	N/S (U/C) / Rooftop or
CA / REV / RE	Vehicle: IN / OUT		
Date:	Person Contacted:	The U/C / Chassis frame / Body	Structure affected due to collision.
	action / Instruction	,	
	וורסכ		
24/6/2021 Re	evert to III via Merimen.		
m	V:80K		
	V: 34.2K		
	ett: 45.8K		
Date/Time, File Pass to?	: Preli. Report	Days Of Repair:	
		Resurvey No. of Trip:	Survey Fee:
1) Date/Time, File Return to			Transportation:
2)	Add Fee	: Site Insp (\$	)s+Rssi
		: Interview (\$	) Photos
Report Formst:		: Tech. Invs (\$	) Others



# SINGAPORE ACCIDENT STATEMENT

#### IMPORTANT NOTICE

- Please report <u>correctly</u> the details of the accident to speed up the claims process.
   This Form must be <u>completed</u> by the <u>Policyholder and/or the Authorised Driver</u>
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate

- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

  5. Any false reporting may be referred to the Police for investigation.

  6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

## **ACCIDENT STATEMENT**

Date of Submission Date of Accident Exact Location of Accident Additional Location Information Country/State of Loss

21/06/2021 11:30 (SGT) 19/06/2021 17:30 (SGT) Bedok N Dr, Singapore BEDOK INTERCHANGE OPEN CARPARK Singapore

## **DETAILS OF OWN VEHICLE**

Vehicle Registration Number

SMK6498X

#### INSURED/POLICYHOLDER

Is company? Name Of Registered Owner NRIC No **Email Address** Mobile Phone No. Alternative Phone No

No RAMONE NICOLE KHAN SXXXX762D rnk9504u@gmail.com (Phone) +65-93873733 +65-93873733

## VEHICLE PARTICULARS

Manufacturer Model Variant

Honda Vezel

Exact purpose for which vehicle was being used at time of accident Are you claiming under your own insurance policy for repair to

your vehicle? Vehicle Category Transmission

Yes

1500

Private car Auto

Private use

### **INSURANCE COMPANY**

Name of Insurance Company Type of Coverage Fleet Policy Policy Number Cover Note Number

India International Insurance Pte Ltd Comprehensive D20MPC0001554-01

#### DRIVER

CC

Name of Driver NRIC No

RAMONE NICOLE KHAN SXXXX762D

Date Of Birth Occupation Date Of Driving Pass Driving experience

Gender

Mobile Number

Alt. Phone Number Email Address Address

Address complement

Postcode

Is the driver the policyholder?

If No, Relationship of the Driver with the Insured

Does Driver Own Other Vehicles?

Vehicle Registration Number of Other Vehicle Owned by Driver

Insurance Company of Other Vehicle Owned by Driver

#### GENERAL INFORMATION OF THE ACCIDENT

Type of Accident Weather Conditions Road Surface

Collided into Property

11/05/1968

03/01/1994

+65-93873733

27 YEARS AND 5 MONTHS

BLK 19 TECK WHYE LANE #08-31

(Phone) +65-93873733

rnk9504u@gmail.com

Indoor

Female

680019

Yes

No

Clear Dry

#### OTHER INFORMATION

Was any foreign vehicle involved in the accident? No Number of vehicles involved in the accident 1 Was anybody injured in the Accident? No Was any injured conveyed to hospital by ambulance? Was any other material or property damaged? No Number of Passengers (Including Driver) 1 Has the driver been approached by unknown person(s) soliciting/offering accident claims assistance? No

## DETAILS OF POLICE ACTION

Was the accident reported to the police? No Was notice of intended Prosecution given? No If yes, against whom?

## CIRCUMSTANCES OF ACCIDENT

ON 19/06/2021 AT A ROUND 5.30PM, I WAS DRIVING MY CAR AT BEDOK INTERCHANGE OPEN CARPARK. I WAS TRYING TO PARK MY CAR BUT THE CAR SUDDENLY SKIDDED AND HIT THE METAL RAILING IN FRONT OF ME.

#### ATTACHMENT(S)

Are accident photos available for attachment? Yes Was there any video captured by Car Camera? No Was there any audio recorded? No

#### SKETCH PLAN

#### IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process
- 2. This Formmust be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as <u>truthful and accurate as possible</u>. Any wilful misrepresentation or withholding of material facts may allow insurance companies to <u>repudiate policy liability</u>.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association
- of Singlapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

Lunderstand, acknowledge, agree and consent that

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose an dior process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims.
- (ii) investigating the accident and/or my claims.
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me.
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering processing, handling and/or dealing with my claims

(collectively the "Purposes")

- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers law yers law firms, may/are permitted to collect use, disclose and/or process my Personal Information for one or more of the above Purposes, and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

Folicyho der's Signature / Date &

Time 16 OOAM

Driver's Signature (if driver is not the policyholder) / Date

8 Tme/0-002m

Witnessed by Reporting Centre Personnel

Sketch Plan

(A) SMK 6498X

TEC

ON 19/6/202	1 Around Chotom I was the	WIRDLA
010 10 1000	De elette leuten character et an con	La ule
my cor ac	Replote Interchange ofen cor	isen ~
I was Tryii	of to park my car but the	car
suddentu	skiddled and but the metal	rallin
insport of	skiddled and but the metal	
1 10000	,,,,	
100		- 1 3 3 1 1 1 1

## Declaration

IWe declare the foregoing particulars are true in every respect

Policyholder's Signature Date & 10 80 AM

Driver's Signature (Y driver is not the policyholder) / Date & Time / D - O O A 4.

10.00 AM

Witnessed by Reporting Centre

Personnel

## **JEC AUTO SERVICE PTE LTD**

1 KAKI BUKIT AVENUE 6, #02-11 AUTOBAY@KAKI BUKIT SINGAPORE 417883 TEL: 92327457

TO : INDIA INSURANCE DATE : 23/6/2021

ATTENTION : MOTOR INSURANCE CLAIM JOB TYPE : O/D CLAIM

ESTIMATE REPORT :

**VEHICLE DETAILS** 

VEHICLI NO : SMK6498X

VEHICLE MODEL : HONDA VEZEL

CHASSIS NO : RU11311164

sand in the equation related who

ACCIDENT DETAILS DATE
TIME

THIRD PARTY REQUESTOR / CONTACT : XIAN / 92327457

#### **CLAIM DETAILS: PARTS**

	ITEMS	QTY		UNIT PRICE	TOTAL
1	FRONT BUMPER Distorted	1	\$	821.40	\$ 821.40
2	FRONT BUMPER SIDE HOLDER New	2	\$	26.50	\$ 53.00
3	FRONT BUMPER REINFORCEMENT	1	\$	321.00	\$ 321.00
4	FRONT BUMPER REINFORCEMENT TOP MOULDING ?	2	\$	35.00	\$ 70.00
5	FRONT BUMPER TOW COVER No Per	1	\$	27.00	\$ 27.00
6	FRONT BUMPER UNDERCOVER HOM	1	\$	319.40	\$ 319.40
7	FRONT BUMPER LOWER GRILLE Deled	1	\$	162.90	\$ 162.90
8	FRONT BUMPER FOG LAMP	2	\$	327.20	\$ 655.40
9	FRONT BUMPER FOG LAMP BRACKET	2	\$	48.00	\$ 96.00
10	FRONT BUMPER FOG LAMP GARNISH	2	\$	85.00	\$ 170.00
11	FRONT BUMPER LOWER GARNISH Debad	1	\$	386.20	\$ 386.20
12	FRONT BUMPER LOWER GARNISH RUBBER Not M	1	\$	84.90	\$ 84.90
13	FRONT GRILLE Creed	1	\$	351.80	\$ 351.80
14	FRONT GRILLE INNER Could	1	\$	225.10	\$ 225.10
15	FRONT GRILLE CHROME MOULDING Crul	1	\$	283.90	\$ 283.90
16	FRONT GRILLE LOGO PLV	1	\$	35.90	\$ 35.90
17	HEADLAMP ?	2	\$	1,784.50	\$ 3,569.00
18	HEADLAMP LOWER BRACKET ?	2	\$	39.00	\$ 78.00
19	FRONT AMBIENCE TEMPEARTURE SENSOR	1	\$	45.00	\$ 45.00
20	FRONT AMBIENCE TEMPEARTURE SENSOR BRACKET	1	\$	25.00	\$ 25.00
21	FRONT SUPPORT PANEL	1	\$	676.60	\$ 676.60
22	FRONT SUPPORT PANEL TOP GARNISH HE M	1	\$	190.30	\$ 190.30
23	AIR CON CONDENSER Dented	1	\$	898.00	\$ 898.00
24	AIR CON CONDENSER MOUNTING	2	\$	25.00	\$ 50.00
25	AIR CON CONDENSER SIDE GUIDE	2	\$	36.00	\$ 72.00
1000	CONTRACTOR		1000		10-10-0

26	AIR CON FAN BLADE	1	\$ 57.70	\$	57.70	77
27	AIR CON FAN COWLING ?	1	\$ 125.00	\$	125.00	- ا
28	AIR CON FAN MOTOR 7	1	\$ 295.00	\$	295.00	1
29	RADIATOR Deved	1	\$ 1,250.60	\$	1,250.60	1
30	RADIATOR TOP BRACKET 7.	2	\$ 10.50	\$	21.00	12
31	RADIATOR FAN COWLING	1	\$ 126.00	Ċ	126.00	7
32	RADIATOR FAN MOTOR	1	\$ 298.40	¢	298.40	1
33	RADIATOR FAN BLADE	1	\$ 60.70	\$	60.70	17
34	RADITATOR SPARE TANK	1	\$ 62.90	\$	62.90	i
35	WIPER TANK Neper	1	\$ 75.20	\$	75.20	+
36	WIPER TANK MOTOR Hol M	1	\$ 65.40	\$	65.40	1
37	AIR CON SUCTION PIPE ?	1	\$ 205.30	\$	205.30	5
38	AIR CON DISCHARGE PIPE ?	1	\$ 210.40	\$	210.40	7
39	AIR CON LIQUID PIPE ?	1	\$ 195.90	\$	195.50	2
40	HORN Dend	2	\$ 57.20	\$	114.40	0
41	FRONT LOWER ARM	2	\$ 399.20	\$	798.40	?
42	FRONT KNUCKLE ARM ?	2	\$ 450.30	\$	900.60	1
43	FRONT SHOCK ABSORBER ?	2	\$ 389.60	\$	729.20	2
44	FRONT WHEEL HUB C/W BEARING	2	\$ 193.50	\$	387.00	?
45	STEERING CROSS MEMBER 2 Not	1	\$ 954.20	\$	954.20	+
46	STEERING RACK & PINION S NEV	1	\$ 1,750.60	\$	1,750.60	F
47	FRONT ANTI ROLL BAR LINKAGE	2	\$ 68.20	\$	136.40	?

TOTAL PRICE: \$ 18,487.70 LESS 20% \$ 3,697.54 SUB TOTAL PRICE: \$ 14,790.16

#### **SPECIAL NETT ITEMS**

ITEMS	QTY	U	NIT PRICE	TOTAL
1 FRONT NUMBER PLATE Ze Massim	1	\$	30.00	\$ 30.00
2 FRONT NUMBER PLATE HOLDER	1	\$	30.00	\$ 30.00
3 FRONT BUMPER CLIPS 2 ANA	1 SET	\$	30.00	\$ 30.00
5 FRONT GRILLE CLIPS	1 SET	\$	30.00	\$ 30.00
6 FRONT SUPPORT PANEL TOP GARNISH CLIPS New	1 SET	\$	20.00	\$ 20.00
7 RADIATOR COOLANT New	1	\$	60.00	\$ 60.00
8 AIR CON CONDENSER SIDE GUIDE N	2 SET	\$	10.00	\$ 20.00
9 ENGINE UNDERCOVER CLIPS Nuc	1 SET	\$	30.00	\$ 30.00
10 FRONT TYRE LIT Punched	2	\$	280.00	\$ 560.00
11 FRONT WHEEL RIM	2	\$	700.00	\$ 1,400.00

TOTAL: \$ 2,210.00

## LABOUR

	JOB	PRICE	ADJUSTED COST	APPROVED
1	PANEL BEATING, REMOVE AND REFIT PARTS	\$ 1,400.00	Sw.	
2	SPRAY PAINTING TO AFFECTED AREA	\$ 1.000.00	600	
3	WIRING CHECK	\$ 100.00	35	contract the fi
4	TC SPRAY TUFF COAT	\$ 150.00	50	de aduger
5	TO REMOVE CONDENSER AND TO TOP UP AIR CON GAS	\$ 120.00	-60	YOS DUANISES
6	TO REMOVE AND REFIT RADIATOR	\$ 120.00	-60	
7	TO REMOVE FRONT UNDERCARRIAGE	\$ 750.00	C.	
8	TO PERFORM WHEEL ALIGNMENT	\$ 150.00	-80.	
9	TOWING FEES	\$ 60.00	/	

TOTAL: \$ 3,850.00

TOTAL PARTS COST:

\$ 17,000.16

TOTAL LABOUR COST:

\$ 3,850.00

TOTAL REPAIR COST:

20,850.16

#### **APPROVED DETAILS**

SURVEYOR:

CONTACT:

FAX:

PART BY PART / LUMP SUM:

NO. OF DAYS:

Adrian hing. L/s 23/06/21. 09 Days. All Authorised

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

## > Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	762D
Vehicle No.:	SMK6498X
Vehicle to be Exported:	No
Intended Deregistration Date:	23 Jun 2021
Vehicle Make:	HONDA
Vehicle Model:	VEZEL 1.5X CVT
Primary Colour:	Blue
Manufacturing Year:	2018
Engine No.:	L15B5561181
Chassis No.:	RU11311164
Maximum Power Output:	96.0 kW (128 bhp)
Open Market Value:	\$23,633.00
Original Registration Date:	18 Apr 2019
First Registration Date:	18 Apr 2019
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$15,087.00
PARF Eligioility:	Yes
PARF Eligibility Expiry Date:	17 Apr 2029
PARF Rebate Amount: Intended COE Rebate Details	\$11,315.00
COE Expiry Date:	17 Apr 2029
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$29,159.00
COE Rebate Amount:	\$22,798.00
Total Rebate Amount:	\$34,113.00

The information contained herein is correct as at 23 Jun 2021

ОК

#### Used vezel Cars | Singapore Car Prices & Listing - sgCarMart

Posted: 20-Jun-2021 Tags: 2019 Honda Vezel, Honda Vezel, Honda, Vezel

Honda Vezel 1.5A X

\$82,800

\$9,650 /yr

12-Apr-2019

1,496 cc

28,000 km

SUV Available

1 Owner Unit! New Facelift Unit! Practical And Reliable Hatchback With Simple Maintenance And Large Boots Space. Purchase With Warranty Till 2022. Call/SMS/Whatsapp To View And Test Drive Now! Trade In Welcome.

Posted: 07-May-2021 Tags: 2019 Honda Vezel, Honda Vezel, Honda, Vezel



Honda Vezel Hybrid 1.5A X

\$91,000

\$10,310 /yr

17-Apr-2019

1.496 cc

SUV Available

Elegant Silver SUV, Low Fuel Consumption With Hybrid, One Owner Only, Low Maintenance Cost, Very Well Maintained, Easy Financing, Flexible In-House Loan Packages Available.

Prime Motor & Leasing

Posted: 04-Jun-2021 Tags: 2019 Honda Vezel, Honda Vezel, Honda, Vezel



Honda Vezel 1.5A X

\$79,500

\$9,280 /yr

18-Apr-2019

1,496 cc

1 Owner Unit! New Facelift Unit! Not PHV/ Rental Unit! Practical And Reliable Hatchback With Simple Maintenance And Large Boots Space. Viewing Strictly Via Appointment Only.

Posted: 23-Jun-2021 Tags: 2019 Honda Vezel, Honda Vezel, Honda, Vezel



Honda Vezel 1.5A X

\$79,888

\$9,360 /yr

23-Apr-2019

1,496 cc

Available

(Almost Brand New Guarantee!) Practical And Comfort Compact SUV In Classy And Sleek Looking Fathomless Black Pearl In Colour. Interior Are Fitted With Dual Tone Upholstery That Creates A Elegant Ambience. Price Listed Are Final With 6 Months (GAC) Certified Wa.

Posted: 12-Jun-2021 Tags: 2019 Honda Vezel, Honda Vezel, Honda, Vezel



Honda Vezel 1.5A X

\$81,800

\$9,400 /yr

23-Apr-2019

1,496 cc

25,154 km

16,987 km

Available

1 Owner Careful Driven, Very Well Maintained By Precious Owner, Original Condition And Original Paintwork, Powerful And Efficient Engine, Neat And Clean Interior, Spacious Interior, Biggest Headroom And Legroom, Rear Seats Are Able To Be Kept, Please Contact Ou.

PREMIUM AD

Henly Enterprises Co

Posted: 11-Jun-2021 Tags: 2019 Honda Vezel, Honda Vezel, Honda, Vezel

Save this search criteria, to get email alerts whenever a match is found.

Price

Depreciation

Eng Cap

Mileage

Veh Type

For old advertisements, view Expired ads

« Back ( 1 2 3 ) Next »

✓ results/page

Home New Cars Used Cars Rental Cars Sell My Car Directory Products Insurance Article Forum Resources

Model

sgCarMart is the number one car classifieds for parallel import cars, Toyota, Honda, Nissan, Mitsubishi & BMW. There are plenty of cars for sale, from vans, trucks, sedan cars, luxury cars, sports cars or stationwagons, SUV, MPV, hatchback, to COE cars & OPC cars. You can also buy from a car auction, look up car loans, financial services, low mileage cars, car brands, carpark rates & car insurance. Find buy used vezel, vezel Singapore, used vezel Singapore, used vezel, used vehicles Singapore or even buy used vezel Singapore. We have new car dealers comprising parallel importers, authorised car dealers, and used car dealers on our site. Find new car price lists, new car launches and new car promotions. Visit our partner sites for job openings for Singapore jobs.

real estate, mover, car performance parts, car discussion, forum discussion, commercial vehicle leasing & COE results. All prices and other information displayed on sgCarMart.com are gathered from sources and based on algorithms that are believed by sgCarMart.com to be reliable, but no assurance can be given

that this information is accurate, complete or current. sgCarMart.com does not assume any responsibility for errors or omissions or warrant the accuracy of this information.

#### Follow sgCarMart.com

©2004-2021 sgCarMart, Singapore. All rights reserved.

Compare